Vel lad
i —CexrN eV — Yoo "A€L £ == ‘\{’}')é >
| '
M A
QP Code : 3378
( 3 Hours) [ Total Marks : 80
' NB: .
Ay e~ c [ |
13 Questior Ne. 1is compulsory.
2} Out of remaining cuestions, attempt any three questions.
3} in all four questions to be atrempted.
&) All guestions zarry equal marks.
&} - Answer to each new guection o be started on = fresh page.
&) Flgures in brackeis on the rgnt hand side indicate full marks.
7V Assume suitasie dats i necessary.
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Q2. A) For an 8051 sycten of 11.085044z, Find how long it takes to execute each of the foliowing
instructions. {10 Marks}
21 MOV RZ, #51 b DINT R2, “arget ) LIMP d}SIMP &) MUL AB
Bl Diesizn a soocrceon royalier sysens using 8051 microcontiolien, 4 Kuyies of ROM and & Kbyzes of
RAR. Inte the external memory such that the starting zdaress of ROM IS 1000H and RAM is
CO00H, {10 Marks)

3. &) Draw and axplain data flow model of ARM-7

(10 Marks}

{10 Marks)

(23}

Q4. A) Explain IR cornmuricstion svsiem with basic transmitter setup. .. ' . {10 Marks)
Writé a progrs m segment 10 vary speed of a DC motor using the remote transmitter keypad.

) Write a program for @ sgusre wave (s Yeing generated at pin P1.2. This square wave is to be sent

to @ receiver connected in seral inera to this 8051, {10 Marks)
Q5. A What is siacls How stacke #r: accessed in 80517 Explain operations of PUSH and POP
instructions with =xamp.x {10 Marks)

B) Write a progrem t~ blink ali LEDs connected to port P1 at a slow rate so that the blinking is clearly
seen. Assume a trequency of 22 MHz and that the system is using the 89C51. Use a crystal of
frequency 22 ‘iz {10 Marks)

Q5. Write short nmes on following {20 Marks)

A} Desigr etrizs of embedded systems

B) PCON and SCON registars of 5051
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